6 Hufz - HEREE






6 iz - HhERE
E#e—1 R-UUIRERR

R o 7 AEHAIE, B6-1L LISRT L0 4 BT CHEM LT,
AU o AR ERED 12, [ 6-1.2() ~@ITRT L B0 Th s,
IO, BEREDS AT 5, RBIBIZEILIC & 2K ELa 072 0 it
PoTEY R Y 27 P NO. 3 AT D)L X E RS LR OB E DB B LD, e,
) ERHE O/NEHERTIT o 7o AR — U > Z A NO. 3 TIRER S 9 m & TGS RO
BULH Th B,

LARETR&ESS |

o1

N
Lo Bl
1:6,000 [ st s
060 120 240m ' @ VT A
-_ 6-1.1 HA—y U rEEmANER Z oML, BERAAREER L b0
ol T %,

&6-1




®6-1.2(1) HR—UTRAEHRE GKE) No. 1)

AEIEIEICE = " W R AR R
Fi3 PE WenZ D 1
3 {ir g
'R @ |(rEEE N &
= E| R / #
| % % 4 B 01020
| | (]| R
: 5 | K = X
(m) | (m) | X | _ * ks ("_') 10120130 (cm) 0 3 40 5 &
038 o3 _— | ®E |l BRCO AT, Bl L.
B SN MBS LSBT,
| P mbrromcmmyaae | s 2| 2[2] 8
| ® | BT R B | | w8 |
155. el 0, ! "ﬁ[ 145 ; ; |
X T 1 L |
T (w| |0 R | Mwa
| | 270 30 |4
SR I bﬁﬂ‘§-<&l.6.*2 AP e 5
g S 5 13|15|7 |36 U Pt | :"-,..,,_:
yre & O] F OB 15, 32 T
ViRUex § | ERLAARTS w0 |
il S po P IR R
-1 130 |10 =T
445
" BIELCRHL TS, o s 31413 2
. ® BRCY N s
- v |8.9~8. SnfHiriE PR A A B, 615, 5| 4|6 [ 15
. B | & é 645 E
o LS pes 15| 4|8 [5| 15 N . 4
: = L 1 1| |'&|s
P | P 745
ar £ | L x5, ¢ mBEON e 1 I g_la ]
A i P datheyy
o TiT|a
610 9.60., S
o 15|25 | 50
A =] iz, -
1 R H =
A8
ey 12|15 | % x -
1A i @ i R AR A 30 134 <
] LIS 19|18 | 44
Fd # |2 12. 6507 BRI T AT B, %0 |44 \\
s - |8 13, 7~13. 9m : BHE LD 2L RER,
. LIRS 20|12 | 50
e > 503 |60 —
. 14, 6~14. Smic A TESB RO+
e Pt AT | je| | | L ] s
o o |9m —
5.20 14.80 7, HESy : DL~ % i
" ka7 TR o0 iR OR 1515 15| | 18 |ioo —
. % Loy 1533
~es| M B | ke 72y ‘113 E
" et —
gg 2wl w7 SRIRICRE, ) S
. ® L
~ " 12(19 19| 50
NG 3 ORFERICHES | SR TR 16l 7| % —
gg z m ° rrim 11t {58
J - 18,15 13 |17 g g T SN
3 8. . AES —
63 1843 - Ap ] 8 | 28 |54 .
|
| |
5 i
;. |

&6-2



6-1.2(2)

A=) O TRERERE KE) No. 2)

m| EENENE e ® . o R A R R
* ﬁ 10enZ L@ H e -
fir 3
LS w |[rEEE N__
R | & / |
K| & @ (B ° 102 £
[ El O
| . A i
(m_}_.(_m) Eﬁ:‘r:ﬁﬁﬁ * ‘E‘(m)102030(m) 10 30 10 50
| | |5 6 cmOERNAE, @
- | i 1
-1 E Lewiome smmon o, | |2 lus|5|5[5| 8
5 = KR w1 /’
o 1
) .. P N 90k M 215/ 22| 2| 6 {
- 30 |6 g |
E | Wil PASERT, ¢ 20mmBl D 245 <
3 s E{m‘ﬂﬁé 34310
: i |3.7~3. SniZ AEOBTLRs 1Ak s bl %
| |En2, T IEr 3010
| | 400 | T | |
- 4 L f4sf 2(3 ]3] 8 1
o L 0M?Om‘§<&L |30 |8 |
] W | Bk, 145 I :
- 5 lsas| 5[4 |4 |13
g u' | ﬁ 545 :so 18 )
» it - S
| 645
E 7 B [ | [zas) 5|6 (10| 28
": 27 R EEET| | (e
!.{I:Li%l‘. T
8 ;Jgiiﬂb ST sis| 7|92 8| - N
2%, 28
3 B DL [XH 2 T
- %18 0
Y B o 7 T £ -_:ﬁ- 5 15 100 —
3 i‘&%ﬁm W H L || %
10 10 010, 4ni3RBIE L, BifSAEE 1 —
- 50 50
- 11 e — woo || |0 gy
I | =7 CEREL, AR 1=t g
g | 754 % Lo, % %
. | » % 12.00 I S N
- 12 | |Emsa . iz 800 —
- ) N 50
N T, v —iTE | L =
E 13 ﬁgﬁﬁ!—:ﬁé, iso0. WABE. O
R MR35 ~20cm, B~ MRS ’
E <HFRaT ks,
- ﬁm&mmn
14 CH ¥
|- 15
:_ 16 —t :
||

&6-3




®6-1.2Q) HR—U U TRAEHE GKE) No.3)

B ® R £ @ £ 3 WO AR OB
A I
fir -3
R W |(TEEE N__
]! & :& | | / 01020 &
S & | L ,/,
E ARAREN
| o | B |
]
ad Gl Lo E ﬁ Y bl A (m)|10/20 30("'_"') ] 10 0 40 50 60|
| ™
S b MF
™ . oy 1
; b LR 5 |1
s | B 2 |G oot SRR 13 /
wo| M LS l2os|3|2]3] 8 )
+ 30 |8
235
laos| 3|24 2| | 5
N 2|9 I
335
aos| 33 |4 |10
= Ll 15 w0
173 435
2 -4 e T i R A 3% g &
# |7 paEES Mjﬂg%m?:m llelel s \
E | ® G~ TG ¢ 20~ S0 DR - 30 18]
e | RLB, IG5 T
¥ 705| 5 |6 | 7| 18 . ]
i Gy 30 |18 /r
135
| 34512
| 805 | o —
|
30 |12 G’—_________
EORE —
9.23 8 18 83 =
- :E 5500
= g % 5
L § _M;m.mm% 5 B a0
25,
# |2 = %ﬁ Lyt
§ s "‘ébb\»\sg{-"m n:ﬁ{%i:& % ?
& | By o
-] 50 50
l - -
7 7 _lo14
5
: 1] AAFHE | 0| i
:' | | |
| [

& 6-4




X 6-1.2(4) K= TRAEHR FIKE) No.4)

B ® £+ &M e = wER AR R
| b3 ¥E Wb il T
f g fir L
| " R | | TEEE N it
1T 2] lsle Ar- 1020 /
) iE AREEREPN
W | ®m| W *® A it
N /1 (n)|10/2030] e o % 4w s
S 0.
= ﬂ ] 4 1T
_ '; H 5 (BB _@,mﬁ.l 113 .  —
D0 | g om, - | T
=i Ik » it lzag 1) 1|13
21y 2150--- " - X e
T 5' AT B B EEITRE | slz2lz|L]s |
o sa O] BRE gmis | | iafnls e s
[T : |
w | S 20mELFOR R, B0 HE s 3 (9| 7| 10 ™~
& g BEMISCRLS. o] % |19 )
T s|l2|2|7
@ J::' a7 c<
v AR U Ly o, als|0 ™
& SFIHEE T ME L D B Bl = 5
725, 30 |19 L 7|
{ir 645 =
as| ¥ |8 5 8 — — —
T— _." 3,23 |85 —
5
13 |us =
7 CEU, AL %
Bk, 8 ligs
[ Y AR L,
| v, 50
- 10 - 5
FriR~Heth = 7 CERER, = 7 b i
11 ;?':—77&9‘5(&?]'@?9 % e
E | HIESY : OL~M 5
- 12 3 Jsno
- 13
- 14

&6-5







